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Word problems:

a)

b)

f)

g)

h)

Emma has 15 candies. She wants to share them equally among her
3 friends. How many candies will each friend get?

There are 24 cookies that need to be packed into bags. If each bag
can hold 4 cookies, how many bags are needed?

Mark has 27 stickers. He wants to put them into 9 albums. How
many stickers should he put in each album?

In a box, there are 36 pencils. If each student receives 6 pencils,
how many students can be given pencils from that box?

There are 48 toy cars to be divided equally among 6 children. How
many toy cars will each child receive?

A farmer has 60 eggs. If he wants to put them into cartons, with
each carton holding 10 eggs, how many cartons will he need?
Sarah has 32 marbles. She wants to arrange them equally in 4 jars.
How many marbles should she put in each jar?

A pizza has 16 slices. If it is shared equally among 4 friends, how
many slices will each friend get?

There are 45 books to be divided equally among 5 bookshelves.

How many books should be placed on each bookshelf?
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